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Question Number : 1 Question Id : 6154759669 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the learning outcomes are intended 1n teaching organized at understanding level?

(1) Longer recall and retention of facts
(2) Seeking of relationships and patterns among facts
(3) Creative construction and critical interpretation of 1deas

(4) Mastery of facts and information

Options :
61547537701, 1
61547537702 2



E1547537703. 3
B1547537704. 4

Question Number : 1 Question Id : 6154759669 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547537701, 1
61547537702 2
61547537703 2
61547537704 4

Question Number : 2 Question Id : 6154759670 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following statements differentiate teaching from learming?

(a) Teaching 1s a social act while learning 1s a personal act

(b) Teaching 1mplies learning

(c) Teaching 1s like selling while learning 12 like buving

(d) Teaching can occur without learning talking place

(e) In teaching. influence i1s directed towards learning and learner, while 1n learning 1t 1s

usually towards oneself

Choose the correct answer from the following options :

(1) {a). (c) and (e) (2) (a).(b)and (c)
(3) (b). (e) and (d) (4) (e).(d) and (e)
Options :

615475277051
61547537706, 2
E1547537707. 3
E1547537708. 4

Question Number : 2 Question Id : 6154759670 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



F=TlRd | 5 -4 94 180 T 3fme & 9% o9 Fd 2 7

(a) 1 T AT oA 2l AT T A Fcd 2
(b) T o sty TETEE B

() oz o= & 99 &, FEH A9 @i & 59 7
(d)  foraor femm safarmm iy = = @ 2

(e)  forew sfamm siw forenefi =F1 o1 wferm 2, st stfom = =49 % foo a2 2

ARG [@Feal 5§ Tal 307 960

1) (a). (©) 3 (e) (2) (a). (b) T (c)
3)  (b). (c) 3 (d) (4) (), (d) ¥ (e)
Options :

615475277051
61547537706, 2
E1547537707. 3
E1547537708. 4

Question Number : 3 Question Id : 6154759671 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following are classroom related factors that influence effectiveness of teaching?

(a) Prior task related behaviour of students

(b) Adherence to linear pattern of communication by the teacher
(c) Socio-economic status of the family to which learners belong
(d) Inappropriate use of technological resources by the teacher

(e) Cultural background of students

Choose your answer from the following options :

(1) (a). (b) and (c)
(2) (b). (c) and (d)
(3) (a). (b) and (d)
(4) (c). (d) and (e)

Options :

61547537709, 1
61547537710 2
B1547537711. 3
61547537712 4

Question Number : 3 Question Id : 6154759671 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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(1) (a). (b) 31 (c)
(2) (b). (e) 31 (d)
(3) (a). (b) 31 (d)

(4) (c). (d) 3T (e)

Options :

61547537709, 1
61547537710 2
61547537711, 5
61547537712 4

Question Number : 4 Question Id : 6154759672 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which of the following types of learning materials, the presentations are highly structured
and individualised?

(1) Textbooks prescribed by the universities

(2) Journals and the articles recommended for readings

(3) Writings of great thinkers selected for reflective readings

(4) Programmed instructional and modular learning material

Options :

615475377131
61547537714 2
61547537715, 5
61547537716, 4

Question Number : 4 Question Id : 6154759672 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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Options :
515475377131
61547537714 2
E1547537715. 3
B1547537716. 4

Question Number : 5 Question Id : 6154759673 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following types of assessment 1s conducted periodically with an eve on

standards?

(1) Formative assessment (2) Summative assessment

(3) Portfolio assessment (4) Performance assessment
Options :

615475377171
61547537718, 2
E1547537718. 3
B1547537720. 4

Question Number : 5 Question Id : 6154759673 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

BE1547537717. 1
61547537718, 2
E1547537719. 3
E1547527720. 4

Question Number : 6 Question Id : 6154759674 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

A university teacher plans to improve the study habits of students in his/her class. Which
type of research paradigm will be helpful in this regard?

(1) Evaluative research paradigm (2) Fundamental research paradigm
(3 Applied research paradigm (4) Action research paradigm
Options :

6154752377211
E1547537 722 2
B1547537723. 3
B1547537724. 4

Question Number : 6 Question Id : 6154759674 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

E1547537721. 1
B1547537722. 2
B1547537723. 3
G1547537724. 4

Question Number : 7 Question Id : 6154759675 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A researcher intends to make use of ICT 1n his/her research. What considerations should
welgh most 1n such a decision?

(a) Appropriateness of the tool used

(b) Cost 1nvolved 1n procuring it

(c) Availability of tools in the department where research 1s to be undertaken
(d) Willingness of his/her supervisor to offer help

(e) The company from which the ICT equipment has been procured

Choose vour answer from the following options :

(1) (a). (b) and (c) (2) (c). (d) and (e)
(3) (a). (c) and (d) (4) (b). (c) and (e)
Options :

615475377251
G1547537726. 2
E1547537727. 3
E1547537728. 4



Question Number : 7 Question Id : 6154759675 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

B1547537725. 1
B1547537726. 2
B1547537727. 3
E1547537728. 4

Question Number : 8 Question Id : 6154759676 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following sampling procedures will be appropriate for conducting researches
with empirico-inductive research paradigm?
(1) Simple random sampling procedure
(2) Systematic sampling procedure
(3) Stratified sampling procedure

(4) Any of the non-probability sampling procedures

Options :

61547537729 1
615475377320 2
£1547537731. 2
61547537732, 4

Question Number : 8 Question Id : 6154759676 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
61547537729, 1
61547537730 2
61547537731, 2
1547537732 4

Question Number : 9 Question Id : 6154759677 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

In which of the following formats ‘Chapter Scheme’' of the document has to be formally

approved by a research degree committee 1n the university?

(1) Thesis/dissertation (2) Seminar papers
(3) Research articles (4) Research monographs
Options :

B1547537733. 1
B1547537734. 2
61547537735 3
E1547537736. 4

Question Number : 9 Question Id : 6154759677 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

E1547537733. 1
B1547537734. 2
B1547537735. 3
B1547537736. 4



Question Number : 10 Question Id : 6154759678 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A research scholar while submitting hiz/her thesis. did not acknowledge in the preface the
help and support of the respondents of guestionnaires used. This will be called an instance of

(1) Technical lapse (2)  Wilful neghgence
(3) Unethical act (4) Lack of respect
Options :

B1547537737. 1
B1547537738. 2
61547537735 3
61547537740, 4

Question Number : 10 Question Id : 6154759678 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

E1547537737. 1
61547537738, 2
E1547537739. 3
E1547537740. 4

Question Number : 11 Question Id : 6154759679 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

When there 1= an animated discussion between a teacher and his or her students in the
classroom. 1t can be classified as :

(1) Horizontal communication (2) Mechanical communication
(3) Linear communication (4) Categorical communication
Options :

E1547537741. 1
E1547537742. 2
E1547537743. 3
B1547537744. 4

Question Number : 11 Question Id : 6154759679 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

615475377411
61547537742 2
E1547537743. 3
E1547537744. 4

Question Number : 12 Question Id : 6154759680 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Information overload in a classroom evnironment by a teacher will lead to

(1) High level participation (2) Semantic precision
(3) Effective impression (4) Delayed feedback
Options :

615475377451
E154753774E. 2
B1547537747. 3
B1547537748. 4

Question Number : 12 Question Id : 6154759680 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

615475377451
61547537746 2
E1547537747. 3
61547527748, 4

Question Number : 13 Question Id : 6154759681 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A verbal communication technique used in teaching 1s

(1) Slow expression of words
(2) Varving the speed of voice and tone
(3) Presentation without pause

(4) Resorting to semantic jugglery
Options :
1547537749 1
1547537750 2
1547537751 2
1547537752 4

Question Number : 13 Question Id : 6154759681 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

E1547537748. 1
B1547537750. 2
61547537751, 3
61547537752 4

Question Number : 14 Question Id : 6154759682 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following modes of communication can be employed 1n a classroom for effective
teaching?

(a) Top-down

(b) Iconic
(c) Associational
(d) Dissociational

(e) Svmbolic
(f) Abstract

Choose the most appropriate option from the following :

(1) (a). (b) and (D (2) (c).(e)and (B
(3) (b). (c) and (e) (4) (a). (c) and (d)
Options :

615475377521
E1547537754. 2
E1547537755. 3
61547537756, 4



Question Number : 14 Question Id : 6154759682 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

BE1547537753. 1
61547537754 2
61547537755 3
E1547537756. 4

Question Number : 15 Question Id : 6154759683 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two Statements — One 1s labelled as Assertion (A) and other 1s labelled as

Reason (R) :

Assertion (A): Use of slang in formal teaching makes communication lvely and

Interesting.

Reasons (R) : Academic decency demands the avoidance of slang in the classroom

environment.
In the light of the above statements. choose the correct option :

(1) Both (A) and (R) are true and (R) 1= the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1= false. but (R) 1s true



Options :

61547537757, 1
61547537758 2
£15475377549 2
61547537760, 4

Question Number : 15 Question Id : 6154759683 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547537757, 1
61547537758 2
£15475377549 2
61547537760, 4

Question Number : 16 Question Id : 6154759684 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In a certain coding language. "AEIOU 1s wnitten as TNHDZ. Using the same coding
language, ‘BFJPV" will be written as

(1) UOIEA (2) AEIOU
(3) CGKQW (4) WQKGC
Options :

BE1547537761. 1
B1547537762. 2
61547537763, 3
E1547537764. 4

Question Number : 16 Question Id : 6154759684 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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(1) UOIEA (2) AEIOU
(3) CGEQW (4) WQKGC
Options :

615475377611
B1547537762. 2
E1547537763. 3
61547527764, 4

Question Number : 17 Question Id : 6154759685 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If 3% of (a+b) = 7% of (ab)
and 5% of (a—b) = 4% of (ab),

then what percentage of b 15 a?

AT, 923
1 2l 9y 220
AT & 5"
g oy =My
23 47
Options :

E1547537765. 1
E154753776E. 2
B154753776Y. 3
61547537768, 4

Question Number : 17 Question Id : 6154759685 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

E15475377EE. 1
E154753776E. 2
B154753776Y. 3
B1547537768. 4

Question Number : 18 Question Id : 6154759686 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The sum of a number and its inverse 1s —4. The sum of their cubes 1s :

(1) —52 () 52
(3) G4 (4) 64
Options :

615475377651
E1547537770. 2
E1547537771. 3
B1547537772. 4

Question Number : 18 Question Id : 6154759686 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) —b2 (2) b2
(3) 64 (4) 64
Options :

615475277691
E1547537770. 2
E1547537771. 3
B1547537772. 4

Question Number : 19 Question Id : 6154759687 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A certain principal invested at compound 1nterest payable yvearly amounts to Rs. 10816.00 1n
3 yvears and Rs. 11248.64 in 4 years. What 1s the rate of interest?

(1) 3% (2) 4%

(3) 4.5% 4y

—
D

(]

Options :

61547537773,
61547537774,
B1547537775.
1547537776,

o IR

Question Number : 19 Question Id : 6154759687 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) 3% (%) 4%
(3) 4.5% (4) 5.5%
Options :

E1547537773. 1
E1547537774. 2
B1547537775. 3
B1547537776. 4

Question Number : 20 Question Id : 6154759688 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What 1s the exact equivalent discount of three successive discounts of 10%, 15% and 20% by
sale of an article?

(1) 35.8% (2) 38.5%
(3) 35.5% (4) 38.8%
Options :

B1547537777. 1
B1547537778. 2
G15475377739. 3
61547527780, 4

Question Number : 20 Question Id : 6154759688 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) 35.8% (2)  38.5%
(3) 35.5% (4) 38.8%
Options :

B1547537777. 1
B1547537778. 2
B15475377739. 3
61547537780, 4

Question Number : 21 Question Id : 6154759689 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following hetwabhasa (fallacy) 1s involved in the argument, “Sound i1s
element because it 1s cauzed™?

(1) Viruddha or contradictory middle
(2) Satpratipaksa or inferentially contradicted middle
(3) Sﬁdh}'asama or the unproved middle

(4) Badhita or non-1nferentially contradicted middle
Options :
615475377511
61547537782 2
61547537753 3
1547537754 4

Question Number : 21 Question Id : 6154759689 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

615475377811
E1547537782. 2
61547537783 3
E1547537784. 4

Question Number : 22 Question Id : 6154759690 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Consider the following argument :

Statements : Some chairs are curtains.
All curtains are bedsheets.

Conclusion : Some chairs are bedsheets.

What 1s the Mood of the above proposition?

(1) IAI (2) IAA
(3) I1A (4) AII
Options :

615475377851
E1547537786. 2
E154753778Y. 3
E1547537788. 4

Question Number : 22 Question Id : 6154759690 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) IAT (2) TAA
(3) ITA (4) AII
Options :

615475277851
61547537786, 2
E1547537787. 3
E1547537788. 4

Question Number : 23 Question Id : 6154759691 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s converse of ‘Some S 1s P*?

(1) Some S 1s not P (2) SomePisnotS
(3) Some P1s S (4) NoPisS
Options :

615475377891
61547527730, 2



E15475377391. 3
B1547537782. 4

Question Number : 23 Question Id : 6154759691 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

F3 S, P 7 - TH Uaam Fefeingd 9 O A1 2 7

1) F3S.PFEF (2 T3 P.STHF
3 FTP.S3 (4) FEP,.STHEF
Options :

BE1547537789. 1
B1547537730. 2
61547537731, 3
E1547537732. 4

Question Number : 24 Question Id : 6154759692 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following fallacious hetu (middle term) is not uniformly concomitant with
the major term?

(1) Asatpratipaksa (2) Auvatireka
(3) Anyonya-Asiddha (4) Suyabhicara
Options :

6154753773921
E15475377394. 2
B15475377395 3
B1547537736. 4

Question Number : 24 Question Id : 6154759692 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fferfiga # H T Sy 2d @159 U5 % G F9 § GHEEL 6 8 7

(1) HHq Q?HH (2) en L= i T ‘-'_ 3

f:_j}} H -—':I- —= rm 5 {4} J:|¢.--]E‘1:[-T_—,|‘|T
Options :

BE15475377393. 1
615475377354 2
61547537735 3
E1547537736. 4

Question Number : 25 Question Id : 6154759693 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to classical Indian school of logic, what 1s the correct sequence of steps involved 1n
Anumana (influence)?

(1) Upanaya. Pratijna, Hetu. Udaharana . Nigmana

(2) Pratyna. Hetu, Upanaya. Udaharana . Nigmana

(3) Pratyna. Upanaya, Hetu, Udaharana . Nigmana
(4) Pratyna ., Hetu. Udaharana . Upanaya, Nigmana

Options :

61547537797, 1
61547537798 2
B1547537799 3
61547537500, 4

Question Number : 25 Question Id : 6154759693 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

[a £ [ r i 3 2 Iz B e & = b L} (e [ [
R IRAE ThArE T EEEGE F SEAE 3EAEE § FiEd IE-STEE 0 SEEarel Hefeangd 5 F
'q-.- '_‘| e -:l:l ﬂ ';fn'-l L | r:‘l % ?

(1) 399, Ui, 7, 32, e (2) fas, 74, 399, T2, e
(3) afesn, 39, 7d, 35, e (4) wfas, 74, 35w, 39, A
Options :

61547537737, 1
E15475377398. 2
B1547537799. 3
51547537800, 4

Sub-Section Number: 2
Sub-Section Id: 615475419
Question Shuffling Allowed : Yes

Question Id : 6154759694 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (26 to 30)
Juestion Label - Comprehension



The following table gives the percentage of marks obtained by 6 students in 5 different
subjects 1n an examination. The numbers 1n the parenthesis give the maximum marks In
each subject. Answer the given gquestions based on the table :

Subject (Max. Marks) Percentage (%) of marks obtained

Name of . . : .

stider Maths | Chemistry | Physics Biclogy Enghsh
(150) (130) (120) (100) (100)

Anlat a0 a0 80 60 70

Amar 100 60 70 40 80

Sanyva a0 60 85 80 GO

Rahul S0 fi 65 90 a0

Puneet S0 80 70 85 a0

Pooja 70 75 50 80 40

Sub questions

Question Number : 26 Question Id : 6154759695 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What 1s the overall percentage of marks obtained by Amar?

(1) 70% (2) 72%
(3) 60% (4) 58.33%

Options :
1547537801,

E154753780Z.
E1547537803.
E1547537804.

[ N

Question Number : 27 Question Id : 6154759696 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What was the aggregate of marks obtained by Sanva in all the five subjects?

(1) 375 (2) 395
(3) 455 (4) 475

Options :
E1547537 805,

E1547537 806,
E1547537807.
51547537808,

[ N S

Question Number : 28 Question Id : 6154759697 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What 1s the average marks obtained by all the six students in Chemstry?

(1) 86.66 (2) 76.66
(3) 66.66 (4) 60.00
Options :

B1547537809. 1
61547537810, 2
61547537811, 3
61547537812, 4

Question Number : 29 Question Id : 6154759698 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

How many students obtained 60% and above marks 1n all the subjects?

(1) Three (2) Two
(3) One (4) Zero
Options :

E1547537813. 1
E1547537814. 2
B1547537815. 3
61547537816, 4

Question Number : 30 Question Id : 6154759699 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which subject the performance of the students 1= worst 1n terms of percentage of marks?

(1) Chemistry (2) Physics
(3) Biology (4) Enghsh
Options :

BE1547537817. 1
61547537818, 2
615475378149, 3
61547537820, 4

Question Id : 6154759694 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (26 to 30)
Cestion Lakel Comprehension



Frefefea @ifeem & Arem 4 e afen 1 ©: sEil g 5 fE-fam e 5 o $i o Fgen
T B HEE 0 4 T G YokF 999+ A 3 Rl Gl 8| el & #TuR 9 5 e vl &
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= oTH FH1 6 giazear (%)
(ATeRan 37F)

=9 F 91 TTfore A Gifghl | SfE-faee | 3w
(150) (130) (120) (100) (100)

A 00 50 80 60 70

I 100 60 70 40 80

= 00 60 85 80 60

TEd 80 75 65 90 90

g1 80 80 70 85 50

LEL 70 75 50 80 40

Sub questions

Question Number : 26 Question Id : 6154759695 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

FTHL g1 W S99 i e uideaar a2 ¢

(1) 70% (2) 72%
(3) 60% {(4) 58.33%

Options :
E1547537801.

E1547537802.
E1547537803.
51547537804,

[ N

Question Number : 27 Question Id : 6154759696 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

~
r

i 9= faw=i 7w & w5 g 3 R 2

]
|
n

(1) (2) 39

L& ]

(3) 453

Lo ]
L

(4) 475

Options :

1547537805,
61547537806,
61547537807,
61547537808,

e LI M



Question Number : 28 Question Id : 6154759697 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A Tagm | |l ©: Sl F1 HEa ITH = AE B 7

(1) 86.66 (2) 76.66
(3) 66.66 {4) 60.00
Options :

E1547537808. 1
E1547537810. 2
61547537811, 3
61547537812, 4

Question Number : 29 Question Id : 6154759698 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tl fag1 9 T4 S 4 60% I1 SHE S 37 UTH B R 7

- -

(1) GiEl (2) =
(3 TF (4 I=
Options :

615475378121
E1547537814. 2
E1547537815. 3
61547537816, 4

Question Number : 30 Question Id : 6154759699 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

r

ST =i TTeEraaT i 3fe o FRE favm O ol & s oes e w R

(1) === e (2) wifaF-TaE
@) afaEm (4) =
Options :

61547537817, 1
615475378158, 2
E1547537818. 3
E1547537820. 4

Sub-Section Number: 3
Sub-Section Id: 615475420
Question Shuffling Allowed : Yes



Question Number : 31 Question Id : 6154759700 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following tasks 1s associated with changing appearance of a document in
word processing?

(1) Editing (2) Formatting
(3) Writing (4) Printing
Options :

615475237821, 1
E1547537822. 2
E1547537823. 3
B1547537824. 4

Question Number : 31 Question Id : 6154759700 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

s e - g 5 e 4 0 S o = s o
'f-'il-"ll-'.”'ll-!?.l'-"f 4] H H hiH-41 =hld 98 UEHET | SlHHd =+ H=HET H Socdld o A5l B

(1) e (ufefa) @ g
{3) -“_’l.ﬂ | Ilj-éh_’-[ll (4) H?UT I,,‘ ':.
Options :

BE1547537821. 1
E1547537822. 2
B1547537823. 3
61547537824, 4

Question Number : 32 Question Id : 6154759701 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The term one gigabyte refers to :

(1) 1024 petabytes (2) 1024 megabytes
(3) 1024 kilobytes (4) 1024 bytes
Options :

BE1547537825. 1
B1547537826. 2
B1547537827. 3
61547537828, 4

Question Number : 32 Question Id : 6154759701 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



= Tz 12 s gafag B 7

(1) 1024 TZrEnEag (2) 1024 TETEE
(3) 1024 TFerramzsg (4) 1024 75em
Options :

61547537825 1
E1547537826. 2
E1547537827. 3
61547537828, 4

Question Number : 33 Question Id : 6154759702 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

15 a wireless technology built in electronic gadgets for transferring data over
short distance

(1) WiF1 (2) Bluetooth
(3) Modem (4) USB
Options :

E1547537829. 1
E1547537830. 2
61547537821, 3
61547537832, 4

Question Number : 33 Question Id : 6154759702 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T AT W £ A RH S @9 SI21 % A % (67 SeTRieh 99 W Ed me w

(1) a9 (2) w=a
(3) wizH (4) FuHE
Options :

615475278291
61547537830, 2
E1547537831. 3
E1547537832. 4

Question Number : 34 Question Id : 6154759703 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



PCI stands for

(1) Partial Component Interconnect (2) Partial Component Interaction
(3) Peripheral Component Interconnect (4) Peripheral Component Interaction
Options :

61547537832, 1
E1547537834. 2
E1547537835. 3
51547537836, 4

Question Number : 34 Question Id : 6154759703 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

qtf ]:'ﬁ _3:“? F:J-'I._ ":*-'| jq-'-i'-,':l__'.rﬂ' :"-"'_E ﬁ
£ + W - = r e T 1 « 3
(1) TS FIHE 5292 (2) TIEEE FAEZ 52EH
(3) T FOHE7 2092 (4) YTHES FUHE S
Options :

61547537832, 1
E1547537834. 2
E1547537835. 3
51547537836, 4

Question Number : 35 Question Id : 6154759704 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The national agency for responding to computer security incidents as and when they occur.

15

(1) CAT (2) CDAC
(3) CCA (4) ICERT
Options :

BE1547537837. 1
61547537838, 2
61547537839, 3
61547537840, 4

Question Number : 35 Question Id : 6154759704 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) =iTd (2) #HSuH
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Options :

61547537837, 1
61547537838 2
61547537839, 2
61547537540 4

Question Number : 36 Question Id : 6154759705 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify from the options given below. the co-benefit of Montreal Protocol

(1) Impetus to development of energy efficient systems
(2) Reduction in carbon dioxide (equivalent) emissions
(3) Convergence of efforts of international community 1n addressing air pollution
(4) Control of transboundary movement of hazardous waste
Options :

E1547537841. 1
B1547537842 2
61547537843, 3
61547537844, 4

Question Number : 36 Question Id : 6154759705 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

AT TEeReal § H A28 TI2rR e & Hu-o19 il =iad =i

(1)  F1 &9 Toter &+ fasm i Teares

(2)  FEA SEFFEES (TEged) T8 § FAT
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(4) SR AR = HET S gEed W

Options :
61547537841, 1
61547537842 2



E1547537843. 3
61547537844, 4

Question Number : 37 Question Id : 6154759706 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Under Green India Miszion. how manv hectares of degraded forest land 1s to be brought

under afforestation?

(1) 02 million hectares (2) 06 million hectares
(3) 08 million hectares (4) 20 million hectares
Options :

E1547537845. 1
B154753784E. 2
B1547537847. 3
61547537848, 4

Question Number : 37 Question Id : 6154759706 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) 02 Tafe== 290 (2) 06 Taferma 29
(3) 08 e 792 (4) 20 Tl 9o
Options :

61547527845 1
E154753784E. 2
E1547537847. 3
E1547537848. 4

Question Number : 38 Question Id : 6154759707 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The themes of some Sustainable Development Goals are

(a) Chmate action

(h) Sustainable cities and communities

(c) Peace. justice and strong institutions

(d) Skill development and decent emplovment
(e) Green agriculture

(f) Responsible consumption and production

Choose the most appropriate from those given below :

(1) (a). (b). (c). (e) and (f)
(2) (b). (c). (e) and ()
(3) (b). (c). (d). (e) and ()
(4) (a). (b). (¢) and ()

Options :

61547537549 1
6154753738500 2
61547537851, 5
61547537852 4

Question Number : 38 Question Id : 6154759707 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FHiTTT AN Ta=hr &1 & T 7 -
(a)  TeEg FHE

(b)  HURYA TR 3H FHEA

(c) A, =T 3R G55 HEIH

(d) =i w3 FEEE

(e)  Fha HMW

(f)  ITRGHET T@Ua T TG

3 - fan
HHH IUGF TaHed H TI B ;

(1)  (a). (b). (c). (e) 3T (D
(2) (b). (c). (e) 3 (P
(3) (b). (c). (d). (e) 3 (P

(4)  (a). (b). (c) T (f)
Options :
51547537849, 1
61547537850, 2
61547537851, 3
61547537852, 4

Question Number : 39 Question Id : 6154759708 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The most dominant source of Benzene emissions in ambient air is

(1) Cement industry (2) Cigarettes
(3) Car exhausts (4) Paints and varnish
Options :

E1547537853. 1
E1547537854. 2
51547537855, 3
61547537856, 4

Question Number : 39 Question Id : 6154759708 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) gz 3@ (2) e
@) W% FEew (4) "2 ¥R AT
Options :

51547537853, 1
61547537854, 2
61547537855, 3
E1547537856. 4

Question Number : 40 Question Id : 6154759709 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The most important pollutants that cause degradation of water gquality 1in rvers and streams
are

(a) Bacteria

(b) Nutrients

(c) Metals

(d) Total dissolved sohds

(e) Algae

Choose the most appropriate answer from the options given below :

(1) (a). (b) and (c) (2) (a), (b)and (d)
(3) (a). (b). (d) and (e) (4) (a). (b). (c). (d) and (e)
Options :

E1547537857. 1
E1547537858. 2
61547537859, 3
61547537860, 4

Question Number : 40 Question Id : 6154759709 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(a) ST

(b) T Ted

(c) HTd

d T g FO3E

(e) ST

[
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1) (a). (b) 37 (o) (2) (a). (b) 7T (d)
(3) (). (b), (d) 7T (e) (4) (a). (b). (c), (d) =77 (e)
Options :

B1547537857. 1
61547537858, 2
615475378549, 3
61547527860, 4

Question Number : 41 Question Id : 6154759710 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Database WOS stands for

(1) Web of Science (2) Web of Sources
(3) World of Science (4) Web of Service
Options :

61547537861, 1
61547537862, 2
61547537863, 3
E1547537864. 4

Question Number : 41 Question Id : 6154759710 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

SIaTsH .E_,'?‘“"-_l -S:H T T"'-.'

(1) =9 @7 =99 (2) =9 % AES

(3)  dFE HTF AEH (4) == HTE wET
Options :

61547537861, 1
E1547537862. 2
61547537862, 3
E1547537864. 4



Question Number : 42 Question Id : 6154759711 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The major barriers for access to higher education 1n India are :

(a)
{(h)
(c)
(d)
(e)
(£)

more opportunities of emplovment for less educated
government policies

language of instruction

economic status

competition from forelgn universities

gender discrimination 1n soclety

Choose the correct answer from the options given below :

(1)
(3)

Options :

{(a). (b) and (c) (2)  (b). (c) and (e)
(c). (d) and (D) (4) (d). (e) and (f)

61547537865, 1
E154753786E6. 2
E1547537867Y. 3
61547537868, 4

Question Number : 42 Question Id : 6154759711 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
g ° 3= T91ET i ATETEET § 5 ST E

(a)
(b)
(c)
(d)
(e)
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(1)
(3)

Options :

(a). (b) 3 (c) (2)  (b). (c) FF (e)
(c). (d) =T () @) (d). (e) #7 ()

E1547537865. 1
61547537866, 2
E1547537867Y. 3
E1547537868. 4

Question Number : 43 Question Id : 6154759712 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

According to GATS (General Agreement on Trade and Services). higher education should be

a commodity in the

(1) domestic public sector (2) domestic private sector
(3) non-trading sector (4) global marketplace
Options :

515475378649, 1
61547537870, 2
61547527871, 3
BE1547537872. 4

Question Number : 43 Question Id : 6154759712 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

U A TH (SR SR HETs geE " TEEa) F AgEn 3= foen s e e e e
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@ e 8 o A e
Options :

BE1547537869. 1
61547537870, 2
61547537871, 3
61547537872, 4

Question Number : 44 Question Id : 6154759713 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following statements 1s true in the Indian context?

(1) Autonomous colleges can grant degrees independent of umversities
(2) Autonomous colleges can grant only bachelor’s degree independent of universities

(3) Except doctoral degrees. all other degrees and diplomas can be granted by

autonomous colleges

(4) Whatever mayv be the degree or diploma. autonomous colleges can grant them under

their own name but under the seal of an affiliated university

Options :

615475378731
61547537874 2
61547537875 2



BE1547537876. 4

Question Number : 44 Question Id : 6154759713 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
61547537873, 1

E1547537874. 2
E1547537875. 3
BE1547537876. 4

Question Number : 45 Question Id : 6154759714 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Rashtriva Uchhatar Shiksha Abhivan (RUSA) aims to achieve the following in Higher
Education System :

(a) Equity

(b) Access

(e) 0% GER

(d) Excellence

Choose the correct option from those given below :

(1)  (a). (b) and (c)
(2) (a). (c) and (d)
(3) (a). (b) and (d)
(4) (b). (¢) and (d)

Options :
15475378771

E1547537878. 2
E1547537879. 3
B1547537880. 4



Question Number : 45 Question Id : 6154759714 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(4) (). () 7 (d)
Options :
C1E4FEEFETF. 1
L1E47EEFETE. 2

B1547537875. 3
61547537880, 4
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Question Shuffling Allowed : Yes

Question Id : 6154759715 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (46 to 50)
Juestion Label - Comprehension



Read the passage carefully and answer questions that follow :

There 1s no doubt that the market as a realitv and political economy as a theory plaved an
mmportant role 1n the liberal crtique. But liberalism 1z neither the consequence nor the
development of these: rather. the market played. in the Iiberal eritique. the role of a “test”, a
locus of privileged experience where one can identify the effects of excessive governmentality
and even welgh their significance: the analvsis of the mechamsms of “dearth” or more
generally. of the grain trade 1n the middle of the eighteenth century. was meant to show the
point at which goverming was always governing too much. Therefore. an anlavsis to make
visible. in the form of evidence. the formation of the value and circulation of wealth—or, on
the contrarv. an analyvsis pre-supposing the intrinsic invisibility of the connection between
mndividual profit-seeking and the growth of collective wealth—economaes, 1n any case. shows a
basic ncompatibility between the optimal development of the economic process and
maximisation of government procedures. It 1z by this. more than the play of ideas. the
French or English economists broke away from mercantilism and commercialism: they freed
reflection on economic practice from the hegemony of the “reason of state” and from the
saturation of governmental intervention. By using it as a measure of “governing too much”.
thev placed 1t at the limit of governmental action. Liberalism does not derive from juridical
thought any more than it does from an economic analyvsis. It 1s not the 1dea of a political
soclety. but the result of search for a liberal technology of government.

Sub questions

Question Number : 46 Question Id : 6154759716 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following plaved a role in the liberal eritique?

(1) Liberalism as a consequence of market forces
(2) Liberalism as an offshoot of political economy
(3) Reality of market
(4) Political economy as a practice

Options :

51547537881, 1
61547537882, 2
61547537882, 3
E1547537884. 4

Question Number : 47 Question Id : 6154759717 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The liberal critique examined the implications of

(1) market expansion (2) too much governance

(3) growth of political economy (4) politics of marketisation

Options :



E1547537885. 1
61547537886, 2
B1547537887. 3
61547537888, 4

Question Number : 48 Question Id : 6154759718 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What lkind of evidence was needed to make the liberal critique vizible?

(1) Circulation of wealth (2) Pre-supposing individual profit
(3) Dearth in supply of grain (4) Incompatibility of growth
Options :

E1547537889. 1
61547537830, 2
61547537831, 3
61547537832, 4

Question Number : 49 Question Id : 6154759719 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What 13 incompatible with optimal economic development?

(1) Plav of 1deas

(2) Absence of commercialism

(3) Political society

(4) Excessive government procedures
Options :

E15475378593. 1
B1547537894. 2
615475378385, 3
E1547537836. 4

Question Number : 50 Question Id : 6154759720 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The passage 1s indicative of the author's preference to

(1) economic hegemony of individuals
(2) Iimit government control of economics
(3) seek liberalism from juridical thought

(4) promote individual profits

Options :



BE1547537897. 1
615475378398, 2
61547537895, 3
61547537300, 4

Question Id : 6154759715 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (46 to 50)
Juestion Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 6154759716 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) HTARIFT = THOEEY 3RATE (2)  TTATaE TG % YRS 32RATE
(3) AT =l T e (4) =FEN % =9 § TTEHTaE AUy

Options :

61547537881, 1
61547537582 2
61547537882, 5
61547537884, 4

Question Number : 47 Question Id : 6154759717 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

51547537885, 1
61547537886, 2
E1547537887. 3
E154753788E. 4

Question Number : 48 Question Id : 6154759718 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

E154753788%9. 1
E1547537830. 2
E15475378391. 3
B15475378392. 4

Question Number : 49 Question Id : 6154759719 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

E15475378593. 1
B1547537894. 2
615475378385, 3
E1547537836. 4

Question Number : 50 Question Id : 6154759720 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547537897, 1
£15475375498. 2
61547537599, 5
61547537900 4
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Number of Questions: 92
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Section Marks: 200
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Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154759721 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
“Social workers should not take unfair advantage of any professional relationship or exploit
others to further their personal. religious, political or business interest™ — this statement 1s

a part of

(1) Value base of social work profession (2) Ecological system theory

(3) Code of Ethics (4) Chent waivers of confidentiality

Options :
1547537901, 1

E15475373902. 2
E15475373903. 3
51547537304, 4



